BixRE
* EHAASHIERRAY AT T R R K BRI A T EE T
- Joix—HI e FEYIRR ;

1 B HRE

2 SRR EATE RN

it




Gomoryei&

SRR RN A RS | RUE—RE b, TR, BYIRAIIRER :

% +Za1 o J io
vay XY b PEESIERE DI ¢
s —N +fl
I0 +j;o

oJ

it




Xio +Z(Ni0:j +fio,.i)xf AL +ff0
i |

xfo +ZNiofo _Nfo =‘fi0 _Zf;mjxf
f;o _Z'f;b:jxj <0}

FEIFESTE

it




(—). B EEEEITESER
- 1. FBRARZEKEE( IP )XINAIFASHRIRR( LP ) :
- ()A(LP BT , N(IP )BRBRI{THE | FI0TE,

- @QFE&(LP)BRIME , ARFE(IP RIBESRM | N( LP )HSHERDA

(IP)HIEfRE , FIETE.

- 3)&(LP)B&IE  (BARE(IP )RIBEEM , RAT—2.

it




e
xio T Z Nfo».fx.f o Nio 7 f;o _Zf;o:.fx.f
2. MLP)IRMMED | (BE— N RABEHAD Bx, SR SRRz TR a,
M b DR NEEE D TIAFRINE S EE D 2 BRI BB MR E B RHNEE
BREDADEN BN HAELMRIZER LEAIA. , HTIEEIFESGRE

fig = i Far,my =20
e

sl !/ s12
bl BISSEERS O, MBS

SRR A




3. BSHEIFESEFA— T FRISRFM E T RIBAERT

( FERSIEII— P ERMFIEE ) | AXYBRAEREKEFSEIE &AL




BHHR RO AL
- BRI
- IR RN ST N LT R ENEE.

fHuan:

;—xl i i—xz e
I, e (] e W
MINFASEEEZTST

Sx, +6x,+x, =45

ELNREIINIR =R Sish =}

it




Bl : FREITEERARRE S

fi

0

maxZ = x,

3x,+2x,<6

=3 x k208 <
x,5x, = 0 HEEE
IMrsteEEE XA X, |, BEI(LP) MR AR RANRM BRI
el ol e P T B C. oj1| 0|0
05 2 b o I A S I e R Co [Xg| b | X|X]| X3 | X,
S el B R ) e i -2
x,| 1 [1|0]1/6|-1/6
AR T R e A 1 [ x,|32]o|1|wa|va
73 5 R M S RO PR —Z7 |-3/2|0]|0|-1/4|-1/4




LIRS - X (1,3/2) Z=3/2 EXREBHENE , 5INEIFHE.
LG /TRITEEREIE , BT 1/4=0+1/4, 3/2=1+1/2, BAICIKHFEERIED
RRBERI R, FrLA |, SEREFERIFE

I 1 3
x2+zx3+—x4=5

4
X% +1x +Lx —1+l
2 TR 4 5
1 1 1
St e e e e
S T
1 1 1
__(_x3+_x4)50 Eee——> 1_x3_|_1_x4_1_
2 4 4 4 4 2

it







— A
S RTEITER IR | SRS ;

1 1 1

e o ey Xt DO ST
C S PR T A e
Ce | X b X4 X2 X3 X4 S1
e I B O o o P e
B e Y g AR
B SRR o T | ¢
=7 2312881540 0 e 7
Cg Xg b Xy X3 X3 X4 51
Xq 2/3 i 0 0 -1/3 2/3
T 0 1 0 0 1
| a2 0 0 1 W A
=y -1 0 0 0 0 -1




MR X =(2/3, 1), Z=1 (R i
i, MU RITEREINEE

HEMA

(2)

uyn

2 2,
x4+?s12?

FA LSRRGSR X, 7lls, | BT EAEIFE

FRSEISFMAVEITFESREY (% 2 X,

D& -

N EITE




FERIEIFEFAIINGHEZE | AFIIZIERT

2 2 2
SO TAERTey  SEEROR B S SRR e,

3 3 3
Cg Xg b Xq Xy X3 X4 S; S,
0 X, 2/3 1 0 0 -1/3 2/3 0
1 X, 1 0 1 0 0 1 0
0 X; 2 0 0 1 1 -4 0
—Z -1 0 0 0 0 114 0
Cs Xg b Xq Xy X3 X4 S; S,
0 Xy 0 1 0 0 -1 0 iy
1 X, 0 0 1 0 = 0 3/2
0 X 6 0 0 1 5 0 -6
0 5, 1 0 0 0 - 1 312 A
5 0 0 0 0 A -3/2




Cg Xg b X, X, X3 X, Sy S,
0 X, 1 1 0 0 0 ls g plip
1 X, 1 0 1 0 0 1 0
0 X, 1 0 0 1 0 =Bix |5 32
0 X, 1 0 0 0 1 1 8)7
2 -1 0 0 0 0 -1 0

EWERRME  HEMBER X' = 1,1), Z = 1, SRR EZESINE.
B LSRRI, RPEEDETRERAIRETRERIEAITIE |

FLt , XNMNEEZRIRADEHBEIEEEE.

SRR A




